小学三年级数学口算题

口算（一）
200+180=         56+125=          400-70=          71+28=        6×8=              36-18=

35÷5=             90+150=          78÷9=             45-27=           720-180=         9×9=

910-90=           38÷7=            220+150=         6×9=           6×7=              40÷8=
290-40=           770-160=        600+270=         620+150=         3×7=              7×7=
37÷6=             56÷9=            60+100=         750+125=        4×6=             19÷8=

200+50=          430+27=          720-70=           820-128=         33-17=           71-43=
81÷9=             72÷8=             71-24=           250-60=         28÷7=            33÷6=

66÷8=             5×5=              15+43=            58-36=              6×6=             60+350=
840+90=          5×9=              43÷7=              460-72=         34+23=           34+56=

13÷6=             9×4=              30+540=           620-57=            11÷5=           67-53=
口算（二）

52+81=            9×9=               83÷9=            330-172=      38+52=           5×6=

8×6=              62+52=             41÷5=             75+75=          70+18=           5×4=

36÷6=             70-18=            900-80=           70+450=      58+14=          78-23=

36÷7=             44÷6=             94-46=             7×8=             8×7=             52÷7=

6×4=               500+700=        30+38=            84-12=         4×4=             2×2=

2300-500=         44+23=           7×2=              520-30=         980-400=        6×3=

750+60=           8×1=              8×2=              17÷5=          8×3=             26÷6=

300+70=           760-500=         38÷7=            700-300=         270-80=          7×3=

22÷7=             100-45=          8×4=               2×6=           9×6=             33÷6=

370-230=          69+30=          32÷4=              1×1=             120-30=          5×4=
口算（三）

200+90=         69+40=           9×2=              6×3=        26+36=          19+47=

67÷8=            64÷8=            220+170=          4×7=           19÷6=            21÷6=
69+32=            680-120=        770+630=          3×3=　      25×4=　       450×0=
120-40=　　　  402×5=　　　   360-90=　　　　11+60=       630×3=　　　  560+40=

72-24=　        9+50=　　　　  630+70=　　　 120×5=       250×5=        14+40=
24×5=　　  　  70×8=　　　  　880×2=　　　　 40×8=        57-28=　　　   801×9=
120+20=        250×1=　　 　  28+68=　　　  100×0=        902×1=        17×4=
30×6=　　　　  18×3=　     　　68-4=　　 　  48-16=         70×2=　　   　200×8=

280-70=        320×8=　　　    30×6=　 　　  180-60=        560+80=      150×2=
140-5=　　　  　125×8=　　　  　700×2=　　 　　72×3=　　     42+30=　　　 902×6=　

口算（四）

120－40＝　　　 402×5＝　　　 25×4＝　        450×0＝      630×3＝　　   560＋40＝
360－90＝　　   11＋60＝      72－24＝　      9＋50＝　　 　630＋70＝     120×5＝
24×5＝　　  　  70×8＝　　　  250×5＝         14＋40＝      57－28＝　　　801×9＝
880×2＝　　　   40×8＝        120＋20＝       250×1＝　　 　28＋68＝　　  100×0＝
30×6＝　　　　  18×3＝　　　　902×1＝         17×4＝　      70×2＝　　    200×8＝
68－4＝　　 　  48－16＝      280－70＝       320×8＝　　　  30×6＝　 　　180－60＝
140－5＝　　　  125×8＝　　   560＋80＝       150×2＝        42＋30＝　　　902×6＝
700×2＝　　 　　72×3＝　　    590＋70＝        800×5=　　　  440×0＝　　　25＋16＝
303×3＝　  　　 12×2＝　　  　 470＋70＝       64×0＝         20×6＝　　　 90×3＝
25×8＝　　　 　  72×6＝        420×6＝         280＋40＝　 　　55×5＝　　　 48×4＝

口算（五）

120－40＝　　　  402×5＝　　　 25×4＝　      450×0＝      630×3＝　　　 560＋40＝
360－90＝　　 　11＋60＝       72－24＝　     9＋50＝　　  630＋70＝　　  120×5＝

24×5＝　　  　　70×8＝　　　   250×5＝        14＋40＝     57－28＝　　　 801×9＝
880×2＝　　　　 40×8＝        120＋20＝       250×1＝　　  28＋68＝　　　 100×0＝

30×6＝　　　　  18×3＝　　　　 902×1＝        17×4＝        70×2＝　　   　200×8＝
68－4＝　　 　  48－16＝       280－70＝      320×8＝　　　 30×6＝　 　  180－60＝
140－5＝　　　  125×8＝　　　　560＋80＝      150×2＝       42＋30＝　　　 902×6＝
700×2＝　　 　  72×3＝　　  　 590＋70＝      800×5=　　　  440×0＝　　　  25＋16＝

303×3＝　  　　 12×2＝　　     470＋70＝      64×0＝         20×6＝　　　　 90×3＝
25×8＝　　　 　  72×6＝        420×6＝        280＋40＝　 　 55×5＝　　　　 48×4＝
口算（六）

1厘米=（   ）毫米    50厘米=（   ）分米    10厘米=（   ）分米   40分米=（   ）米

3米=（   ）厘米      1米=（   ）厘米        10分米=（   ）米  100厘米=（   ）米

40毫米=（   ）厘米   70厘米=（   ）分米     20分米=（   ）米   80毫米=（   ）厘米

30毫米=（   ）厘米    80厘米=（   ）分米     4分米=（   ）厘米   5分米=（   ）厘米

60毫米=（   ）厘米    6厘米=（   ）毫米      30分米=（   ）厘米   80厘米=（   ）分米

1分米=（   ）毫米     4米=（   ）厘米         1米=（   ）分米   90毫米=（   ）厘米

200+180=              56+125=              400-70=             71+28=             
35÷5=                  90+150=              20+150=             6×9=

910-90=                35÷7=                 34+56=            6×8= 
12÷6=                  9×4=                  34+23=                36-18=
30+540=                620-57=              15÷5=                 67-53=
口算（七）

30米-20分米=（  ）米           　   6分米+（  ）厘米=1米

20米-70分米=（　）分米　　　　　   ７０厘米＋３０厘米＝（　　）分米

２７０米＋（　　）米=1千米          405米+（   ）米=1千米

3米-（  ）厘米=1米                  5米+（     ）分米=6米

8米+（    ）分米=90分米             1千米-（     ）米=350米

（    ）米+1千米=2000米             86千克-52千克=（   ）千克

2吨-325千克=（     ）千克     　    35千克+18千克=（   ）千克

56吨+（    ）千克=62吨             ８５０千克＋１５０千克＝（　　）吨　

24千克+（　）千克＝１００千克　　　  ３０７克－６０克＝（　　）克

６吨－５００千克＝（　　）千克　　　   46吨-15吨=（    ）吨

40毫米=（   ）厘米    70厘米=（   ）分米     20分米=（   ）米

30毫米=（   ）厘米    80厘米=（   ）分米     4分米=（   ）厘米

60毫米=（   ）厘米    6厘米=（   ）毫米      30分米=（   ）厘米

1分米=（   ）毫米     4米=（   ）厘米         1米=（   ）分米

90毫米=（   ）厘米    80厘米=（   ）分米     5分米=（   ）厘米

　　口算（八）

68+96=          300+620=        85+126=        308+22=

37+49=          87+56=          56+113=        44+38=

49+67=          57+65=          88+77=         83+49=

99+66=          52+108=         101+99=        65+125=

64+119=         83+107=         750+150=       96+45=

804+36=         95+70=          3655+345=      820+360=

464+36=         4300+2600=      843+57=        9700+300=

265+600=        5600+200=       341+59=        340+560=

67+233=         510+670=        269+600=       350+70=

6782+3218=      540+1260=      1400+3700=     340+2460=

470+530=        740+600=        6700+600=      890+1110=

870+120=        820+132=        310+690=       420+655=

460+1340=       430+150=        2100+910=      270+123=

450+1550=       323+232=        260+1340=      456+123=

2400+1200=      4500+3700=      680+1220=      3400+540=
口算（九）

420+1580=       6800+120=        4000+400=       540+1460=

870-650=         420-210=         304+38=          877+177=

304-38=          877-177=         582+60=          625+85=

582-60=          625-85=          580+250=         326+87=

580-250=         326-87=          672+570=         520+185=

672-570=         520-185=         154+46=          345+65=

154-46=          345-65=          865+528=         865-528=

545+255=        386+214=         253-143=         296-286=

387+213=        499+501=         873-663=         987-647=

866+134=        534+266=         376-286=         800-480=

645-454=        8000-7000=        872-672=         4650-460=

540-65=         8100-280=         750-380=         7500-2500=

5026-326=       860-780=          1850-480=        903-780=

750-280=        650-460=          370-295=         1355-455=

685-396=        788-166=          300-284=         820-43=

